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He does not maintain ‘dragging the dragged® - 799 n% 795937 779993

Overview!'

&27 ruled if he first became aware of the second 77°%p (the %P of 7oK1 NAW)
only, and then later he became aware of the first 71101 777X (of N2W N2w) and the
second 7mv (of 72871 NAAY), he can bring one 1279 for the second 77°¢p and the
first set of N2W nNAxw2 711w 77°¥P, however he must bring a second 127p for the last
n1mv of 7989 naw. The reason is because X271 maintains 77°73 but not 77737 777
There is a dispute between >"w2 and N1vOIN as to what constitutes 7773, and what is
considered TnX Dovia.

- 499039P2 W97 3195907 1959 2OUN XY NNRYY NINVI ZD8P N9V N
And this which the 79°3p (of 7oX%1 nAw) is 973 the 739mw which is together with

the 77°¥p of N2w naw, this is not considered ;79937 79593 as 3"'w1 explained -
= S9N DYYNA MNT 1199 19990 2PYN KD NEPY NP NIV T

For this which the 7792p of 70X naw is 973 the 77°%p of naw naw, that is not

considered ;77993 at all, since both M7°%p were TR a%wra -
= 19°9) N2YWN N9V NNV YaN

However the m°mv which is together with the 7P (of naw naw) that is
considered 5793 -

= 7HAY MY HY NNV NI NN NaY )k Hv NPIPT OIVN
Because the 792p of 7oK nawy naw P77 by itself cannot be 973 the 7omw of

DAY NAX, rather it can be 773 the 71°1v of AW NAW —
= 19523 NN 1397 PPV NI NON NNRYY NINPN T Y NIN

Only through the 792 of n2w naw which is together with the 71°1v of Naw naw,

!'See [‘Overview’ to the] previous ¥711 1"7 2,y '0.
2 The n"27 M3 amends this to read 7Y AIMYY 37X (Not MY 1ML T1XP).
3 Seemingly this should also be a case of 77>137 77", The NRYA 127p is initially brought for the 771°%p of 7oX?1 NAwW.
This in turn is 97 to include the 77°¥p of nNaw naxw, which in turn is 973 the 7w of n2w naw, which would
seemingly make it a 77°737 77
4o '
5 He did a7°%p twice; first naw 0%vna and then 7ox%n 05via. However they were both done X 0%y, therefore one
1277 is brought for both of them, since there was no 2n1°2 7¥>7° and we do not need to apply the concept of 7. It
is as if he ate two TR 09972 2917 °n°1 where there is only one 127p, Here too he was %17 twice TR 0oy,
® The n"27 Mnx1 amends this to read 82w 7w 70w (instead of RWN 7MW 71°70).
7 arnoy 77°%p are two separate NORYY; so even though they were done 71X obwna, if there was no naw Nawa 7P
(together with the naw naxwa 7°1v), the 1299 for 781 NAwa 771°%p would not be effective for the naw nawa arnv. It
is only because there was Naw nawa 7o 77%P, so the 1279 of 7851 N2 77°%p includes the naw nawa 771°%p (see
footnote # 5), therefore it can be 77 the nnyw 71w which was also naw naw2.
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since the main 3399 is not brought because of the 77¥p of naw naw but rather for the
7°¥p of XYM naw, which has no connection to the naw nawa mnw.

In summation *"w7 maintains that this which the 77°%p of naw naw is included in the 3299 of
TORDM N1 77°%p is not considered 71773, However including the 73°nv of naw nxaw is considered
7771, Including the 72mv of 719871 N is considered 77°737 77,

mooin offers his opinion:
= 198D D99 DK MNP N999) RAYYN NPT AN PNYY 13939D)

However it appears to the 59 that including the 79°%p of 2w naw in the 77°%p of

7OKRP1 NAW is considered 193, since 827 stated (7YW 7100 ANORP NN TP -
= 9199957 N9 RYWN XY NPNHLYT XINN YaN

However that inclusion of naw nawa 79w (on account of the Naw nawa 77°%p) is

not considered 799937 7999 -
= 1091 NYNVN 995NN )5 ON XIN NI8PN HY 9939 9199 19NY

For he cannot atone for the 7933» of naw naw alone, unless it also atones for
the 1omw which was done together with it naw nawa.

mMooIN anticipates a difficulty:

= 119995 XYM XY H9AN OHYNA 25N 99701 %IWT 23 HY 9N)
And even though if one ate two 2517 "n°r in one 2%y, it is not considered 79913,
so how can the °"9 maintain that we consider the 77°%p of Paw naxw to be 721 after the 7% of
TORY1 Naw; they were done 7nx 2%yna?!

mooIn responds:
= NAY P HNNNI NAY NIV HNNAY I2INY NIIEPI NP DIPN DN

8 If the 727p for the two Mm7¥p would be mainly for the 77°¥p of naw naw then the 7nyw 7110 would be included,
since they were both done naw nxaw2 and it would not be considered 7773, However the 1277 is being brought
mainly because of the 7oX%n naw 2w 771°%p (he was aware of this first), therefore it cannot include the mnw of nxw
naw, unless we employ 7773 (since there was also a naw nawa 771°%p [which was R 02yn2 with the 7P of nuw
7oRR7]).
? According to the >"9, the words of the X723 that 72y APAYI 78R N7 AYP are precise; the only 7773 is the A7Xp
7% N7, however the [ayw 71°mv is not considered a 773,
19 There is only one nxvn 21 for the Naw nxawa 7w 3P, therefore if one is 79201 (in this case the 73p), the
other (71°1v) is also 792n1.
' When one eats two 2971 °n°r without being aware at that time that he is eating 2%, there is only one nXvn 21’0 since
there was no n1v°7> between the eating of the first n°r and the second n’1. We do not say that one n°1 is 77 the other
n°1. Rather initially there is only one nXvn 2vn, therefore seemingly here too, since he was 2w nawa ¥y and xP
TOR91 NAWw1 in one 09¥n (there was no Y>> in between), there should only be one nXun 21’1 which is 9957 on both
m7°¢p without resorting to 7777,
12 A ‘regular’ 71X 09vn is where both maw were the same (by 77°%p for instance he was X twice 79X?% Naw3a [or
naw nawa]), but when the naaw are different, it is not considered 7nx 0%v71. See ‘Thinking it over’.

2

TosfosInEnglish.com



77772 7"7 "0 XXy naw .7"'02

Nevertheless the case of 799381 77998p here is different from a ‘regular’ X 0%vn,

since one 77°XpP was naw naawa and the other 77°%p was naw 11712 and 7989 naw,
therefore they are not considered 7nX 0%y, and the reason why they are 19301 with one j27p is
only because of 71773,

mooIn brings support to his view:
= 15799%9) 1199 507 DIV 13991 1299081 1PN NIINPY NPT 379102 MINT INNT NNIYD)

And the reason of the one who maintains shortly that 39°3» of naw niaw and
7R of 1oXY N do not combine, that is because he disagrees with 7953,

mooin asks (on the *"):
= 15829 ANT 1NN NINNIY K81 7N NT 29 DNHYAN )2 PYNY 139297 AYP)

And the X"2w9 has a difficulty; according to this (that the m7°xp of naw naw
7oK N are not considered TR 29vi3, but we require 77°73), the X713 could

have found a way to state the dispute between X293 3928 (whether we maintain 7773
777737 [the view of ™2X], or not [R17]) -
- MANYM P11 HAY NI ISPY 1N ML NIV 199N

Even by three m3p alone (without mnv); for instance if he was first 23p

MERDA 7Y N2 NAARa -
- 1659997 NIYI NAY PTTA A8PI 1T

And he repeated and was 9% with naw 177 and N8 nasw -
= 17199891 P HaY NIYWA I¥PIY TN NNHVYNIN 19 Y1

And he became aware of the first naw naw2 77°¢p, and after this 737 he was again
a3 by NIDRY2 1711 NAW N and later he became aware of all the M °gp; in this case -

13 See later on our Ty the query of X7°7 " and the response of *oOX 2.
14 According to mooN that 798572 NAWY N2w DA are not considered MR 0%y7, but rather they are TR NXWLAA 903
because of the concept of 7773, we can understand why others may disagree with this concept of 77171, However
according to *"w1 who maintains 73R?% DMWY NAw naw are considered TR 0%Y7, it is not easily understood why
someone should disagree. (See [however] *"wA later Xn2°n 1"7 who addresses this issue.)
15 The ywI *10 maintains that the question of the X"aw1 is why does the X723 cite the np1?nn between X327 »axR in a
case of 291 92X (which is not relevant to naw naon), and not in a case of M7xp wow. [The >"19 is not satisfied with
this explanation either, w"»v.] However the *» Y naw interprets the s'R"aw7 question that why do *»ax1 X211 argue by
7m0 77°%p (a more complicated case) when the same argument can be in a simpler case of three n17°xp.
16 At this point; according to *"w9, both M °x¥p are considered X 0%¥na (with no need of 77°73); however according
to the »" they are not X 02vn2 since their Maw are different, nevertheless they can be 19301 with one nxon if we
maintain 77",
17 Regarding these last two m17°%p (the first 7o%%n nawa and the second naw nawwa) they are considered X a7via
according to *"w", but not according to the "7 (since their N are different); they can only be combined if we use
771 a second time. [Nonetheless even according to >"w that the first and second are X 0%v772, and the second and
third are TR 0%¥n32, one nXun would not be sufficient if not for 7773 since there was a 771> between the first and
third 77°xp, However with 717773, one nXkvr would be sufficient to be 7957 on all three M1°¢p, even according to X27.]
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99950 20¥YY B) ANY) 1999913 NY WYY 1899513 %Y PUNIN YY 129D NN Na9YT
According to 827 if he brought a 3299 on the first 79°2p, the second 77°%p was
1p2n1 because of 11773, however the third 798P was not 19001 since it 1S 7772

7737, however according to »aR even the third 77°Xp was 99501 since »ax
maintains 17X 77737 77773, Our 50N does not answer this question on the >™.%!

Summary
"N maintains that 7OX%1 DMWY Naw nawa M¥p without a o0»n2 oy7 is

considered 7R 0%y, However the naw nawa nnwy 77°%p is considered 773 (in
relation to the 719821 nawa 77°%p). The > maintains the opposite; that nawa msp
7oK Naw naw is not considered TR 097 (and requires 77°73), but the %R
naw nxawa nnwY is considered Tnk 0%¥5 and does not require 77770,

Thinking it over

1. According to the *"1 that different types of nuaw cannot be considered o%via
71X;%? what be the ruling in a case where one ate a n°1> of 2711 (knowing that it was
251) but he was unaware that 251 is 10X. He later became aware that 251 is M0OK
(but was not aware yet that he previously ate 2%17), and then he ate another n*1> of
251 thinking it was 1W. There are two different nw here (one where he did not
know 2511 is 70X and another where he did not realize that this is 2%1), which were
done 71X 0%¥n2; is this considered one 0% or do we require 717> in order to be
792501 on both 2’012 with one nNXvr1, and so according to those who do not maintain
777, he will be required to bring two mxwn.?

2. When m»ooin teaches that we cannot utilize 77°73 he writes,”* Naw nNawa DAY
naw 11712 XM, Why did not nd0IN write 7IR2A DAY NART N2AW DA NARIY?

18 The »3w was 79501 only because of 77" since according to the > they are not considered 18 07v72 since their
naaw differ.
19 The third 77°%p, even though it is the same 723 as the first 77°%p, cannot be 19501 with the first 77°%p, since there
was a 0»n12 ay°7. It can also not be 79501 through 7773 because of the second 77°%p, since we already utilized one
77°73 to be 1901 on the second 77¥p, which according to the °"3 was not done T8 07¥na with the first 7°%p. We
cannot use 7773 twice; MR X2 7777 7773 according to Xa0.
20 The first 7°%p is 771 the second 77°%p, and the second is 97 the third; 12X 77°137 7773 according to M2x.
21 See "n YW naw who offers an answer.
22 See footnote # 12.
23 See XX N,
24 See footnote # 12. See text by footnote # 7 where we find the same idea, mentioning naw N7 instead of NAW
IR,
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